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121. Match the column X with the column Y :

1
-
|

Column X Column Y
p. Time to prefer wearing dark coloured clothes 1. night time
q. Time of blowing of the sea breeze il. winters
r. Time to prefer wearing light coloured clothes i1, day time
s. Time of blowing of the land breeze iv. summers

The correct answer is

(A p—1, q-1, r—iii, S—1IV
(B) p—ii, q-iii, r—1, s—iv
(C) p—1, q-11, r—1v, s—1i
(D) p-tv, q—1, r—1ii, Ss-—1i

oM X W1 hiem Y # fierm i |
E%E-: He™ X HicH Y
T p. WEUUT % wYS! I YgAA i SUFar & G i. Ul %
q. OUE FHR % g8 1 9 ii. aféa
r. B UT % US| ol U4 &1 GTdr e & G iii. fe7 =1 wvg
s. e R & 984 % iv. T
E TW 2

(A) p-1, q-1ii, r—iii, s—iv
(B p—u, q-iii, r—1, Ss—1v
/p—ii, q—iil, r—iv, s—i
(D) p-iv, q—-1, r—ii, s-—iil

(69) A

: RL-2

122. How many decibel is safe noise level fixed by the World Health Organisation for a city ?
(A) 45dB (B) 90dB (C) 140dB (D) 65dB

EIE] fopa T W1 (WHO) F T W1t % forq vt Seffere (dB) 1 g iR &

B 7 e 27

) 45 dB (B) 90dB (C) 140dB (D) 65dB
123. Example of alkene is
(A) C,Hg (B) C,H, (C) C4Hy (D) C,H,
Tkl 1 ITET 8

(A) C,Hg B) C,H, (C) C,Hg (D) C,H,
124. During regsffiration which molecule is formed in the first step of break down of =
(=]

s

glucose.
(A} Ethanol (B) Pyruvate
(C) Lactic acid (D) Carbon dioxide

TIE & R T & e & wum = ¥ S amen A 8
(A) 3T —-—‘4) qRRE

(C) wffes ar=a (D) FTEA-EEATGEES


https://whatsapp.com/channel/0029VaAQQTrK0IBdaoDfOC1Z/

125. Chemical equation of ‘Chlor-alkali’ process is Tl

(A) Ca(OH), + Cl, — CaOCl, + H,0

(B) NaCl+ H,0 + CO, + NH; — NH,Cl + NaHCO,
(C) Na,CO4+2HCl — 2NaCl + H,0 + CO,

(D) 2NaCl +2H,0 — 2NaOH + Cl, + H,

TR~ WA hl THTS T B

(A) Ca(OH), +Cl, = CaOCl, + H,0

(B) NaCl + H,0 + CO, + NH; — NH,Cl + NaHCO,
(C) Na,CO4+2HCl — 2NaCl + H,0 + CO,

(70
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126. Two plane mirrors X and Y are placed perpendicular to each other. A ray of light is incident
on mitror X at an angle of 30°, as shown in figure below. Then the angle of reflected ray
for mirror Y with the incident ray for the same mirror Y will be [=]#[=]

B

30°

X
(A) 30° (B) 60°
© 90 (D) 120°

Q) THAA g4 X 9 Y UH-gE o 9mEad W@ ¥ | Wb o) e foRTT gur X W 300 i
Eﬂﬁ%mamﬁa%,émﬁﬁﬂ%ﬁaﬁmw% | @ g Y @ otk @ arch fror
S v g Y w et R @ o g i

;
O3

30°

(A) 30° (B) 60°

(C) 90° 120°
n A
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127. Which waste is the best treated by recycling ?
(A) Domestic Waste (B) Agricultural Waste
(C) Metallic Waste (D) Medicinal Waste
-4 AT 1 G G TG HA §GH I 8 7
(A) =e] IR (B) Hftr arafime

J—y uifere aTfire (D) Tafreada amfire

128. A car travels at a speed of 18 km/h for 10 minutes, subsequently it travels at a speed of
36 km/h for 15 minutes, then the total distance covered by this car will be
(A) 3 km (B) 9km
(C) 12km (D) 27km

EE T FR 18 km/h 1 =Tt & 10 foFe =Tt R, 369 99 98 36 ki/h 1 =1 | 15 foFe
E&im%,ﬁrmwwmﬁnﬁ@;&ﬁﬁ

129.

(A} 3 km /B) 9 km

(C) 12km (D) 27km ——

‘Student is able to differentiate in between acid and base.” This statement shows ﬂ-{;_{_
. - . [m]

which learning objective ?

(A) Analysis (B) Knowledge (C) Application (D) Skill

“feremmeff 3771 9 &R & YT 3= T GH |7 98 FUF hH-H AR I HI e

Az 7
eeeee) T (B) W (C) TRw@m (D) FNE -
130. Which of the following greenhouse gas does not contribute in global warming ? “@FF
(A) Carbondioxide (B) Methane
(C) Nitrousoxide (D) Nitrogen
Frafafaa § | - Mg 9 afvas Fefemn § amem T8 bt 8 7
(A) TFREASEITFES (B) #im
(C) TrgaaTETEs — R
131. Merits of essay type examination is
(A) Freedom of thoughts (B) Absence of reliability and validity
(C) Lack of remedial use (D) Limited representation
Frazareras adtan =1 o 2
S RLERI (B) Torvedfaan @& duen w1 3
(C) SU=IIH IYGM T 3 (D) i wfaffere
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132. The correct distance — time graphs showing the motion of an object moving with a

(=7 [=]

HE-.\E{_-' constant speed in lincar motion are
- T

—

T

distance

T

distance

time —
(1)

(A) (i) and (iii) both
(C) (i) and (ii) both

e i ¥ fraa =@ @ niefe e T 6 ofa ool @ 5@ glt-wm o E

T —
(i)
(A) (i) (iii) i

)
gl

T

distance

time —

(ii)

qag —
(i)

distance =

7

time —
(i11)

(B) (i1) and (iv) both

T

(D) (iii) and (iv) both

Al

aqg —
(1i1)

(B) (i) @ (iv) g

(C) (i) (i) It P (iii) @ (iv) g

B

133. Presence of pneumatophore in root is an adaptation of “E"E‘:;
(B) Halophyte

(A) Xerophyte

TSl ® =HTHR HT YT 1, IR B
) t_’lﬂul‘lilﬁiﬁﬂ

(A) wEghng

134, Black de
(A) Sariska

(B) Talchhappar

(C) Hydrophyte

(C) Sreirgg

1s the main wild animal of which wild life sanctuary ?

(C) Kailadevi

el {00 -8 971 Sfia nEneg w1 yE aE 9 g 7
(B) HTeTOTR

(A) T

(C) erea

(713)

T
g

time —>
(iv)

7

g —>
(iv)

(D) Mesophyte

(D) WG]

()7 (=]

(D) Sitamata

48

(D) Hiammma
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If the time period of vibrations of the wings of a mosquito is 0.005 seconds, then the

frequency of vibrations of its wings will be

(A) 200 Hz (B) 2000 Hz (C) 500 Hz (D) 5000 Hz

| UF WO % TEl % FF F1 AEdRE 0.005 HHEUS 8, T IFH TEl & HEA NG

) 200 Hz (B) 2000 Hz (C) 500 Hz (D) 5000 Hz

136.

Which teaching-aids are included in the audio-visual aids ?
(A) Movie (B) Radio (C) Model (D) Gramophone

w15t freor-wges ammh grg-2er grh # gftfea § 2

) T (B) e (C) wieA (D) THE
opA0)
137. Which Vitamin is essential for blood clotting ? _'E‘rTi

(A) VitaminA (B) Vitamin D (C) Vitamin E (D) Vitamin K

TR T UFem M | saves faete s g 2
(A) fefim A (B) faafim D (©) ﬁa"ﬁym) foei| K

138. The variety of wheat, resistance to Hillbunt disease 1s
(A) Pusa Shubhra (B) IRRI
(C) Pusa Sadabahar (D) Himgiri
8 3 fiereiz 2 35 wf whrders e 2
(A) &1 (B) IS I 3R 37§
(C) 981 9q¥ER (D) TR
139, He was the first scientist who observed that when current flows in a conductor wire, there
is a deflection in the magnetic needle placed near it. His name is
(A) Michael Faraday (B) Andre Marie Ampere
(C) Hans Christian Orsted (D) Heinrich Friedric Emil Lenz
W[ %@%ﬁaﬁrﬁmé, ﬁ%ﬁ%%m%m%@ﬁwmﬁwmﬁ%ﬂ@?ﬁ%?ﬁm
Bl e @ EhE gE # Tl g g | ST AW R
(A) TTEHA HUR (B) 3 wll wrdteR
‘_r_g) #u frfvem e (D) FiH g Tfiret o
(74)
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140. The appropriate method to separate mixture of two soluble liquids is
(A) Distillation (B) Sublimation (C) Evaporation (D) Separating Funnel

<) gerTeiiet 7l @ v 61 YU FA Al 9 fafy @
g) T (B) ITEH (C) TRt (D) gaga:rﬁzﬁw

T ; : aTi
141, Cell organelles, which difTerentiate plant cell from animal cell Eg_,*ﬁ

(A) Plastids (B) Vacuoles (C) Mitochondria (D) Golgi Apparatus

gTeY HIfITRT 1 Siq FHIAT A I B AT HIRTR 3T &
e '{A) (B) @yt (C) wepitgm (D) Tieelt Iua
142, An example of fungus used in making antibiotics

(A) Mucor (B) Rhizopus (C) Penicillium (D) Puccinia
%{ . HaE F g Fome sEm wfwdfas & fofn § g

(A) =R (B) TESITE / ufafaferam (D) ofeafra

143. Two statements are given below
i. When a plastic straw is rubbed with polythene it becomes negatively charged.
i. When a glass rod is rubbed with silk, it becomes negatively charged.

Then the false statements is/are

(A) Only (i) (B) Only (i)
(C) (i) and (ii) both (D) None of the above
a3 %A feu ) €

. WS BT &1 9iierefd § T84 W 98 FRomai & o 2 |
ii. T H T B W Y TG W 98 H/ARE & I 2 |

“"{“" A e FA B/E
(A) Fa4 (i) _ee==W(B) F (i)
(C) (i) (i) qri (D) 3WEa H & H§ TE
144. Mass of 0.1 mole N, s
(A) ldg (B) 0.14g (C) 28¢ (D) 0.014¢
0.1 ¥ N, %1 7590 2
(A) ldg (B) 0.14¢ (C) 28¢g (D) 0.014¢

/5} A
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145. Mode of reproduction in plasmodium is
(A) Binary fission (B) Multiple fission
(C) Regeneration (D) Budding
wsAiteTd # 9= 6 ol R
(A) ToasT L,
(C) g&eHaq (D) HFeH
146. “ Project is a whole-hearted purposeful activity proceeding in a social environment.”
Which pedagogue gave this statement ?
(A) John Dewey (B) Sigmund Freud
(C) Jean Piaget (D) William Heard Kilpatrick
Elﬁlzl;gﬁm (ufEeT) 98 Sy fataty 8, S Qui-wAEe & w1y amite arae 3 6
F I
R 7 o Ty T 3 fan 2
(A) <9 2t (B) Tz gs
(C) <= farat D) faferam &€ frerifes
147. Reason are not for gmUM
(A) Pollution of water-seflirces (B) Over exploitation of ground-water
(C) Rain-water harvesting (D) Neglecting of traditional sources
Y[~ Hehe T BT TE 8
(A) SIE-HIdl 1 qguv (B) ¥-<Tet 1 A
) A~ WA (D) 9TOTTR |l s IaeT _
148. Natural disaster by which many people are affected on 26 January 2001 in Bhu EI!EE_]
city of Gujarat is %Er'{"
(A) Volcano (B) Earth quake (C) Flood (D) Lightning
TS % A IR H 26 St 2001 Y gfEa s amadt ew v safE
wuTferd 8T
(A) ﬂw) KShe (C) 3 (D) fsa
149. Hornfone that acts on the Uterine muscles during parturition
(A) Prolactine  (B) Thyroxine (C) Testosterone (D) Oxytocin
Sips v 3 S e e e e i &
52N

" (A) TAfEA (B) uraifee (C) T=ETH (D) AlFdRfE

. Example of amphoteric oxide is

(A) Na,0 (B) CO, (C) ALO, (D) CaO
g ATFETES 1 IR B

(A) Na,0 (B) COZ{) AlLO, (D) CaO

(76)
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